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- The question paper comprises of two Sections, A and B. You are to attempt both the
sections, -

. All questions are compulsory

- All questions of Section-A and all questions of Section-B are to be attempted separately,

. Cuestion numbers 1 to 3 in Section-A are one mark questions. These are to be answered in

one word or in one sentence

Question numbers 4 to 6 in Sections-A are two marks questions. These are to be answered

in about 30 words cach.

Question numbers 7 to 18 in Section-A are three marks questions. These are to be

answered in about 50 words each

Question numbers 19 to 24 in Section-A are five marks questions. These are to be

answered in about 70 words each.

Question numbers 25 to 33 in Section-B are multiple choice questions based on practical

skills. Each question is a one mark question. You are to select one most appropriate

response out of the four provided to you.



% Question numbers 34 to 36 in Section-B are questions based on practical skills are two
marks questions.

HAT-3 / SECTION-A

1 A HIfeTR 7 F1 7w fafa e oo = fags v oo, se A nemE 1

Name the cell organelle in which breakdown of pyruvate to give carbon dioxide, water and
energy takes place,

2 an Aiun =1 = fafan 5 G e % o w S aan ki 1

Mame the device that helps to maintain a potential difference across a conductor.

3 U 30w w i A e fafiad 1

Write any two characteristics of a good source of energy.

4 T #z % el TR T W o e e #, @ o sl @ o o W gl s sitedem 2
I Fa ¥ a UF A 7= g
(@) = F 3@ TV W A fefg
by I F il w5 fafay
()  wifaa sl = wgiem moafe i fafiao
When a colourless lead salt is heated, it decomposes to give a brown fumes and oxygen and a
residue is left.
[a) Mame the lead salt,

(b)  Name the brown fumes.
] Write the balanced chemical equation for the reaction involved.

5 A R A E R war F e uw T R s e fem o & P s oW v T 2
Hardl =t # 1 78 fafs = T i et sftuen fafen)

In one method of rust prevention, the iron is not coated with anything, Name the method and
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define it.

6 dfa = wfvarn fefae ) dfe i F  awi & T g w ;
i e amfsa &
(i) T = w sfed et e § fen am E R A s w8
Define neuron. Name thx-eparisafﬂmmurmw]-me:
(i)  information is acquired

(i}  impulse must be converted into a chemical signal for onward transmission

7 Frefafen siviwmel & fod Hafem wamfe wdem fafed -

(i) oM FEAE TegEEnE e A sfufem w9 e wiimz, 9@ am wee
EWHATFHGE 21 &

() = AmEeE egeE A afafen w5 sefe o Fedo s
(i) A ThEEETT 9 ¥ 9w w1 seh snaisane aw gewt ensisage 4

Write balanced chemical equations for the following reactions :

{i) Calcium carboriate on reaction with hydrochloric acid gives calcium chloride,
water and carbon dioxide.

(iiy  Nitrogen reacts with hydrogen under pressure to form ammonia.
(iii)  Carbon disulphide burns in air to give carbon dioxide and sulphur dioxide,

8 Frefaien § fie i
(iy = aa i g e w affs
(i)  Frerm @ woi fail (w@E = o s wiea )
(iii) W T ST ¥ TR B UH0 T WO IS Al

Differentiate between the following :
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(ij  Reaction of magnesium and calcium with water. =
{if}  Roasting and calcination processes giving an example of each,

(i) Mature of metal and non metal oxides with an m.rnpk_l

_9/ afden iz w1 3wE dd v e aw S R A M am Y wEE Sem o e e § 3
TR W ¥ AR s e e ferm B e s ) wm o Seen W e
frrfafiaa weil & oot 270 8§ S

iy i deE a3 0w v ol e O e wen s s d
() = e e pH O e | Ea s g g

Baking soda is used in small amount for making bread and cake. It helps to make these soft
and spongy. An aqueocus solution of baking soda turns red litmus blue.

Use this information to answer the following questions : dd qr 1
o L0 LN
(i) How does baking soda help to make cakes and bread softand  spongy ? fant Pt

i) Is the pH value of baking soda solution lesser than or %Eah:r than seven ?

\)/ e wlrE v § 2 umadi ¥ m fafed 3

() v = e et e #
(i) 4R F wy e o =
(i) g St S aen w= g *

Name two metals in each of the following cases :
(il Metals that are stored in kerosene.

{ii)  Metals that are alloyed wilh iron to make stainless steel.

(iii)  Metals which are highly malleable and ductile

J R e § Fre ot it fafad 3

@  wFa (i) T (i) wEd
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State the function of the following in the alimentary canal ;
(i) Liver (M)  Gall bladder (it} Villi

AR TR 99 RO YR 9 % e o e &t ufiEE w5

Design an experiment to demonstrate positive phototropism and negative pholotropism.

TR F R ST S 9 gk an 9 i fafe i
Explain any three methods used by plants to_get rid of excretory products.

fereit wfeTss 3 5 A Y o E | 40 W 200 V S ¥ fae g 7wt BRIes w9 @ waifhe
fFuiasad? :

A circuit has a line of 5 A. How many lamps of rating 40 W; 220 V can simultaneously run en
this line safely ?

s weE femd S S A S s E A T S T g1 U2 1 I v g ey

W e e 0 6 g B e uw s S 6w g § s T o5 ¥’

You are given two identical Jooking iron bars. Just using these two bars how will you identify
whether any or both of these bars is fare a magnet 7

Fo & Tl el sl =t smded o= gofd w8 i @ v 4 faemum & wie W
T T E TN . 9= @ uW o A 58 W om w om s 3 % g wif 5
TR @1 EH R, A s B TR oy W it ss=er w2 Y T T wAY fafEn
wftnfer % i 4m T wtte

mmmmm_ra_’

A B

LORNLCURN O I O B O I O T O

Diagram shows the lengthwise section of a current carrying solenpid. ®indicates current
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cntering into the page, e indicates current emerging out of the page. Decide which end of the
solenoid A or B, will behave as north pole. Give reason for your answer. Also draw field
lines inside the solenaid.

88666 8 &

A B

O RIR O R OV O I O 0 O T O

mﬁlﬁﬁﬁﬂﬁﬁﬁﬁﬂﬁaﬁﬂﬂﬁmmﬂﬁﬂﬁﬁﬂﬁ?ﬁqﬁil = g
dietl 1 SIS F1 3T w ) 5% e F gfen A fen am 5 o s @ e e %
m%aﬁﬁmlgfﬂm%nhmﬁaﬂﬂﬁhaﬁﬁ#ﬁﬂﬁﬁﬁmﬁﬁmm{ﬂm
afae =1 % Ban swfeR 3 weht & el 2 9 i Frer ol % T i -

) =8 g = e & dr s W s F voafie s 8 WIR B TEF
Ve 3T € e T A w A T

(i) %8 gfaa &1 I0Em w0 3 = e el

(iiiy T 58w F fau i w0 e fafo

Arvind visited his ancestral home in a remote village in mountains where the electric supply
has not reached yet. He saw the villagers using lantern, He met the village head and
explained him about the conversion of solar energy into electric energy. Village head called a
meeting of villagers and then gave the important task of bringing electricity to the village to
Arvind, Arvind happily agreed. Now answer the following questions :

(i}// Name the device that converts solar energy into electric energy. Mame the main

pfement used for making this device.
\iﬂy State two advanlages of using this device.

@1 State the values that prompted Arvind's action.

a/ mﬁhﬁaﬁmmmmmm%ﬁmmﬁMJ

Explain the function of digester in a biogas plant. List the two main components of biogas.

19
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(b) i o wew ) e

(c) =g wlE = e e ?

(d) i = wa U i e w6 87
A e Tl R W O w2

/\{}’/ Define corrosion.
111( What is corrosion of iron called ? — Lo B4l i
\lé( How will Wi rm:‘ag;njse the corrosion of silver ? — f: | it L{'-'.igf-"‘-f

\ld]/ Why corrosion of iron is a serious problem ? - J

‘Qﬁ/ How can we prevent corrosion ?

(a) Tt om A HrEm F oo owE W owadsl i e 0l a wedeEf sea A e
Fafda o = 97 & gl O wafes B w2 & wEt | feda G e e
uftadst & ford wgfm wamfe gotem fafa )

(b) W = W A T fated fam oAt de e awim saefa g

i  wE R e
(i) AFTTERFEFFTY
{a) A student dropped a few pieces of marble in dilute hydrochloric acid contained in a

test tube. The evolved gas was passed through lime water. What change would be observed
n lime water ¥ Write balanced chemical equations for both the changes observed.

(b)  State the chemical property in each case on which the following uses of baking soda
are based :

(1) as an antacid

(1) asaconstituent of baking powder.

(a)  EREFA wEw % Frmm & ey g feafaly =1 v sgmw g e

by et # 9 e w5t ofi fafed ) = e s fafe
ﬁ}/ Explain feed back mechanism for regulation of hormonal secretion with the help of
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one example

(k) State two different types of movement in plants. Mention two points of difference
between them

(a) Tl e w Al @ o e v sedE i e F s oA d2 s
form =l 1 g = A w0 F T e aw S d v um R den o am
= § 7 oy wmifay

&

) i A o e A e wE el Se el we W s e 22 31w
#t 7= T 9 = wm 91w ol w0 § o Fraw = oeem i R a9 T
=i frm =1 Fifm =0 § fem w wsm

% State the meaning of “frequency” of an altemating current. M its value in India.
Why is an altemﬂhﬂ.i’;..:kat considered 1o be aduanhgenus over direct current for long
mission of electric en energy ? Explain. —— -

Why and when does a current carrying conductor kept in a magnetic field experience a
7 List the factors on which the direction of this force depend. State the rule wiuch may
* be used to determine the direction of this force. '

B (a) TR T e e w e de ) fom an Pt fee v e e s
&7

(b) el ug gEw w wend & arfan s 9w el ety i vand wifi o @ fa
o &3 Wi fien sifsa i)

(c) s enal & & il # gt wm

. What are magnetic field lines 7 How is direction of magnetic field at a point
" determined ?

(b)  Draw field lines around a bar magnet along its length and mark the field direction on
by arrow marks.

List two properties of magnetic field lines. U-U-"""M'

2 osrt

™~ .
‘::-',E b ?\
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24 foredl wrrer o6 Wi A e A ¥ 7 Tm Sl A w A sl sust it fafian fedt e s
1 wigin o el o i s & st e wemn . fad o wfrira foem waem w2,
e -

(i) =t e 2 T
(i)  FEF FFn E o @ ?

What is meant by resistance of a conductor ? Name and define its SI unit. List the factors on
which the resistance of a conductor depends. How is the resistance of a wire affected if -

(i) itslength is doubled,

(iiy  its radius is doubled 7

VIT-H / SECTION - B

¥ HCl #R” CHyCOOH (Y% s7=1) § 79 #r=a & faeadi § foast pH ww @, o 1
i
(a)  HC1% faema
(b)  TiETEE v e
(¢) e 3E 9 Pl e @ i witem & fow fma s oo &
(d) TR SAEA FE A g | '
Out of HCl and CH3 COOH {ethanoic acid) of same concentration, the solution with lower pH
value is :
wal  HOlsolution
(b}  CH3 COOH or ethanoic acid
() Itdepends upon the quantity take for testing
(d)  Can't be predicted.

26 W Bf 1 TR R W He # - 1
(a)  itet feremm gm () T fema gm
(c) A wrEned feemmam (@) 9 F yEl g

A base can be tested by -
vai blue litmus () red Htmus
{c) blue or red litmus (d) lime water
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27 qaﬁm%Fesaﬁﬁwﬁznqﬁmﬁmimﬂ?rmqmﬁamﬁmﬁmmaﬁﬂﬁmm 1
) T T frend free
(a) A e 0 sy afsg &
(b) PR s @ sl wfea §
(c) T 3l sy = wfseaa o #)
(d) T 3iF s = afsam =1 se 16 e = asan

A student kept Zn granules in FeSOy, solution. He observed that brown coloured powder is
ited on Zn granules. From the above observation he concluded that : '
ron 15 more reactive than zinc
zine is more reactive than iron
<) rinc and iron are equally reactive
id)  reactivity of zinc and iron cannot be predicted

28 sifafm & d7 wad & St X, v, Z wifea o1 3w o P sfilem s T R 1
1| Fm U e i - .
X+ YA—=XA+Y
2o XA —TA 4+ X
(a)  Z Y I I afew wfign § #w v, x W aien sfvs wfeg &
(b) 2 Xt =aen arfirrs wieg @ ol X, v = e sifies aiwn #
(e} Y. X e o afea sl X, 2 F o afew wfem ¥
() X, Z %1 =i i wigs & i 2, v 5 v afies wfies #)
Anindita ook three metals labelled X, Y and 2. She cartied ot djsp]acement reactions with
their salt splutions, She observed that :
X+ YA - XA +Y
E+XA—=-ZA+ X
The correct conclusion is ; :
{a) Z is more reactive than ¥ and Y is more reactive than X
£ 15 more reactve than X, and X is more reactve than Y
ic) Y is more reactive than X, and X is more reactive than Z
(D)  Xis more reactive than Z, and Z is more reactive than Y

29 14 3 FeSO, & 0 faes fm st sm oefe e ) i o e e o 1

(a)  ®O-wEn (b) ETERED

() TRAOE (d) e en
Ravi took some crystals of FeSOy and make its solution in water, He observed the colour of the
solution to be :
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()  greenish-blue ‘&;]/ pale green
{cy  dark green {dy  dark blue

30 4 30 AW 50 F & ulrihesl S o 420 % wy w9 Bem owm & @ T fel o a1
gm: -

(a) #vit F= | waifaa fFg I W us e favaiE)

(b) TerEiFn T wHfem e 9= 9w aue g am)

(c) R # HHifas fan = m fafvs i

(d) At B Haifan fen st = o wmm fem e
When two resistors of resistance 3 (1 and 5 are connected to a battery it will have
across the two resistors :

(a)}  Same potential difference when connected in series

(b)  Same current when connected in parallel

{c)  Different potential difference when connected in paraﬂe!
(d) Same current flowing through them when connected in series

31 = Ol A Ateedist § S % Tiouis %1 S (9 W e S A W ame :
ﬁ{m‘u‘“ﬂ%
(a) m' @/;‘ma (@ 42V (d) 44V

Four students measured the following reading by observing the position of pointer in
voltmeter correct reading is :

é‘“"{%

vV R '
(a) ‘J—{b} ray ¥ () 42V (dy 44V

_,__

32 Eﬁirﬁﬂﬁﬁrﬂﬂﬁaﬁﬁémaﬂﬁaﬁﬂmw{ﬂmﬁﬁﬁmwhEﬂwqﬂlm 1
FT1 7 um gt For e e A # -
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A leaf from a de-starched plant is covered with black paper strip as shown in fig.1. On doing
the starch test the results will be as shown in the diagram:
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(d) =R CO, T e T R e

Vaseline is mainly used in the Experjmunlﬂl setup to demonstrate that CO; is released during
respiration :

(2} tocoat the germinating seeds so that they de not dry
{b) to seal the mouth of the bent delivery tube

(c}  tomake the apparatus airtight

{d}  tostop the release of COy from the seeds

34 St T st o Fifa .
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Observe the following reactions -
L
.d-'_-!—-
- r
oo
, 1 .\,"-r_-?.,:.-:"”'? .__,..-r"f
= I )
T ‘IJQ =
._____.- ‘_.-'-"'- o '_;.hr stz cidoriie
Ny, I
""ﬁ‘"'.'} i
I;\'I1.-:II|‘.!'-I. HH"\ Frrrone selplu £ L |
i = ~L Bockium sulphati
Ll ==
L] L1
frian nail

: r V' ‘[
Qusch L ﬁ-'ﬁ 'j_- Uippes sulphass
im

Mention the type of reaction taking place in each of the above four cases A, B, Cand .

35 aﬁn%ﬁ#qﬂmmﬁmﬂﬁmﬂ:mﬁ?ﬁ?mmﬁﬁﬁﬂﬂﬁﬂqﬁﬁﬁﬂw 2
W, T TR A g reed Frewi o At Faer famita fom 4 & 79 20 = freed et

While -.Eﬁing an experiment of Ohm's law if you find that the deflection on the ammeter or

valtmeter scale goes beyond the full scale, what would you infer ? What would you infer if
you find that the deflection is in opposite direction 7
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=% 1 o TR i ITRn = ey i e i)

Draw a labelled diagram of stomatal apparatus with closed stomatal pore.,




